Answer Key (no work shown)

1.a)-15
b) 80
2.a)l8
b) 6
c)-115
d) 4
e)3
f) 4
3.a)576
b) -20312
c) 1240
d) -111964
4.a)n=4,1=-40
b) a= -5,
d=6/11
5.a)d=7,a=3,
S =236
b)r=5,a=-2,
S =7812
6. a)

1) is +(n-14
2) i(—sxsy’"

b)1)3+(-3)+
(-9) + (-15) +
(-21) + (-27) +
(-33) +(-39) +
(-45)

S=-189

2)-32+64
+ (-128) +
(256)

S =160

. 1) 415/999

2) 3180/990

.a)24

b) -108/124

. a) 1000(1.07)®

b) 1) 52,000
2)

n® +29n-1000 = 0
o)1) 174960

15625
2) 583.204

3) 600

10. a) =168

b) 27/2

c) s
63/5.6(V5)’

6(V5)".6(5)’

d) 35/6
343 3403
6 \6)

3,303 53,4033
3+3\6/’ 3+4\6/

4. 5(35)
3%

Matrices
A1 2]
46

3 ~12 7]
1 4
3.:-25 -35}
35 -15
=9 41

N | —
|
w

1. -7

2 5 -3
b.1.|5 4 4
1 17 2

2.[4 2]
12 27
c.l.x=3,y=3/4

-4
55}

213 2

5 5
3.x=-2,y=-1




Exponents:

1.
2.

9

T A

= b=

7..6
X'y
54 x®

12

-11/4
log 17/log5
log2.7142
3log5
10 £+/92
2

-10/4

. log35 + xlog7

= (1/2)log17
xlog3 +
(1/7)log5 =
Slogx

. (x-T)logx =

(2x - 3)log5

. 2187

2.

X NN REW

1.1697
1.7713
5,-1
4,-4
6.2402

.17
. 2.7605

1. 12.927

. 98.54
. 19.34

.a)a)’

b) 1
c) 45

d) 2 real

7+345
c
) 2

b) a) 3/5
b) -11/5
c) 229

d) 2 real
e) —3+4/229
-10

.a)25,4

b) 2.081, -2081,
1.61.-1.61

.a) x’-2x-15=0
b) x*-6x+34=0

5. a)
{3=x=1Ux=4}
b) ~1=x<4/3}

Complex
A

1

-1

gt
41+
9

. -10 + 251
4-19i
-29

® N U R W~

B.1.3%
10

2.-71/3
3 —49+8i
29

4. y=-16/7
X = 66/14

Functions
a) 1.1
2.4
3.-6
4.-2,3,1
5. x+2)=1
x-3)=1
x-1)=2



s

6.ul-ur. 6. x+3)(x+2)
7. 1hill, 2 x-DHx-3)=0
valleys 7.4
8.3 8. 2 hills, 1 valley
9. 2 pos, 1 neg 9.3
10. none 10. 2 pos, 2 neg
b) 1.1
2.4 3.1 772
3.-8 2.-7/5
4.-1,2 3.-5
5.x+1)=2 :
(x-2)=3 |
6.11.-u.r. -
7.1 hill, 1 /
valley |
8.2 4.a):3x =2y -1
9.1 pos., 1 neg R:
10. none y=3/2x - 1)
2. 1.175 b) I:
2.-3,-2,1,3 X=(y-5/(y+3)
3.x+3)=1 R:
x+2)=1 y=x+3)/(x-5)
x-1=1 5
x-3)=1
4ul.-u.r

5. x+3)(x+2)

(x - D(x-3)



